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6) Roopak scored 4,000 points in a game. Leena scored 835 lesser points in the 

game than Roopak. How many points did Leena score?  

Solution :-      Th   H   T   O 

  Roopak scored points  =     4     0   0   0 

  Leena scored lesser by = --         8   3   5 

         3      1    6   5 

 Ans:-  Leena scored 3165 points. 

 

 

 

7) The population of a village is 7,975. The number of males is 4,865. What is the 
number of females in that village?  

Solution :-      Th   H   T   O 
  Population of a village   =     7     9   7   5 
  Number of males         = --  4     8   6   5 
          3     1    1   0 
 Ans:-  3110 is the number of females in that village. 
 
 

8) There were 1,100 seats in a theatre. On a particular day, 869 persons watched 

the show. How many seats were vacant?  

Solution :-                                   Th   H   T   O 

  Total number of seats in a theatre        =     1     1   0   0 

  Number of persons watched the show = --         8   6  9 

                        2    3   1 

 Ans:-  231   seats were vacant. 



 

9) The sum of two numbers is 7,036. One number is 3,168. Find the other 

number. 

Solution: -               Th   H   T   O 

  The sum of two numbers   =       7     0   3   6 

   One number is     = --   3     1   6   8 

                 3      8    6   8 

 Ans:-  3868  is the other number. 

 

10)  5,000 empty cans and bottles are collected in recycling drive 2,248 of them 

were crushed. How many cans and bottles are still left to be recycled? 

Solution :-        Th   H   T   O 

   Roopak scored points  =       5   0   0   0 

  Leena scored lesser by = --   2    2   4   8 

         2     7    5   2 

 Ans:-  2752  cans and bottles are still left to be recycled 
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